N = 0 &8 AFH Y & A AN
20199 & 204 LU H HFnoMei22 2IAIL Y ~ EF fersa S0 PA
S EFN0MEES2 2AAIS D
B 2QUBEUMS
@2 AXES E7xY (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HFEDOIMEISA S HAMG WY 5,003,113 5,738,944 A 735,831
Xl 270,000
Al 4,733,113
SoRUE=ELNS 4,695,228 5,453,538 758,310
Xl 270,000
Al 4,425,228
AXEs EF2xY 3,228,397 176,520 3,051,877
MEgZzly 29 15,630 22,380 A6,750
206 M = Hl 15,630 22,380 A6,750
01 M= bl 15,630 22,380 AB6,750
o2 U MAM HE(HIOAH) 6,570
O&A 213 6BHNE 99,000& * 10H 990
ORsts=HXI 33,000& * 109H 330
OFAMME HOAZ(EER)
2,500& = 1,5009H 3,750
O&ALHE DIEF M2
10,000& * 30MIE * 53] 1,500
OEEXAMME (8HXI) 2,220
O & X 1,320& = 1,000+ 1,320
OsHXl 60& * 15,0000H 900
ODEALCIY L Z2EHHE(EUHEAHNA S)
ANAS 2,120
OX 2 66,0002 * 105 = 2 1,320
OA Ol A 2,200& * 105 + 2004 440
O&AE S 1,800 = 2000H 360
OHEHIZHA AMAME (S A) 2,220
osH 385,000& * 24 770
[@FSE; 275,000& = 24 550
OgA 60& * 15,0000H 900
ONSSHT AMAME (ZEHXIX) 2,500
OstE Xl 100& * 15,0000H 1,500
oY=z, &2, HEg S 1,000,000& 1,000
sen 22 AY X 92,140 154, 140 A62,000
201 LEt2 Y| 88,140 88, 140 0
01 AF22t2ldl 66,000 66,000 0
ogtsx ¥ s =22 7= HME 66,000
ogsa =8It 45,000
=2 % =0 15,000& = 3,000 45,000
ot 2|23 20,000
-= 2 500& + 10,0000H 5,000
-=20(Y,5.9) 1,000& = 15,0000H4 15,000
O S HoIM A Al 2 1,000




SH BEDAMUST 2YAAD
HH: SHRUBEURS
o9 HXSs SREY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
222 ¥ e EA 1,000& *» 1,000% 1,000
02 2324l 13,140 13,140 0
oOlsi SEEE 600,000& =« 2CH 1,200
CPNE=PN 400
OL8(&58.58) 100,000& = 200 = 23l 400
OEZMERES 140
OsX=2 70,000& = 23l 140
oxg |l 11,400
Os&8X /=Xl 4,900,000& = 1CH 4,900
Os&gx =Xl 6,500,000& * 1CH 6,500
03 &AL2 Z I 9,000 9,000 0
O8EXNZ MAE(MA,2ISH)
10,000& = 33 » 3008 9,000
203 R =&l 4,000 4,000 0
03 A F=XH R =AY 4,000 4,000 0
ozt 2F YRFA 4,000,000& 4,000
NNZsEFREZY 243t 81,127 0 81,127
201 2et2 Y| 1,127 0 1,127
01 At 22l 1,127 0 1,127
OXXNAEE XNHZCE Re EXN=2E =&
1,024,000& * 110% 1,127
207 A O] 80,000 0 80,000
01 2339l 80,000 0 80,000
OoIMEt=2 &l s & - &I Y o
24 80,000,000& 80,000
Iogle Jlel ZH2 A% WHER e 3,039,500 0 3,039,500
401 A& HIZ 201 Y] 3,039,500 0 3,039,500
01 A& HI 3,028,700 0 3,028,700
OX g8l HHel 2d2 28 HHE=Z HE 3
AN EY X BY 3,000,000, 000& 3,000,000
OMMH BHES =2 28,700
OozZ3d &Eitx==2
800,000& = 10Z Xl = 34| = 24,000
OsSJIEE =2 50,000& = 102 X 500
O=g+=2 420,000& = 102X 4,200
03 A& =TI 10,800 0 10,800
O e Hel =d2 /8 N2 HE =
Ab AL E 2 THHI 3,000,000,000& =* 0.36% 10,800
gEa 2E= 235 15,000 15,000 0
ALOIH ADIE 232 2tel 2 JHe 15,000 15,000 0
201 L4l 15,000 15,000 0




AN FFNMEIES2 2E ML
M 2RMBEARS
el s2R BEX 23 (SHol: @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 15,000 15,000 0
OAMOIHADIEE S =
,250,000& = 128 15,000
23U xd 711,831 734,888 A 23,057
TAA JX22 23,012 45,192 A 22,180
101 1A bl 23,012 45,192 222,180
04 JIZHHNZ2Z2XNSE+ 23,012 45,192 A 22,180
OZEIH o4 MAI2 HMEA 2l 23,012
OJdles 66,800& * 2F * 269 * 63 20,842
O30z 20,842,000& * 4.5% 938
OHE=EE 20,842,000& * 3.12% 651
oI 651,000& = 7.38% 49
ons=sg 20,842,000& * 1.5% 313
Ot e 20,842,000& * 1.05% 219
42 |FA&2 504,140 516,175 A 12,035
201 Let249] 156,379 158,539 22,160
01 At 22/l 28,330 30,490 22,160
CgRUdEr+= 28,330
O&s&J| otdae 200,000 * 123 2,400
OsD| otdae CH)
200,000 * 123 2,400
OsZJ| otEae nE)
200,000& = 12& 2,400
OZAIAAE EIIES 200,000& = 13l 200
OZAIAANA HIIEFH(2EH)
100,000 * 13 100
OZAIMNAAE FIEHE(HxDSH)
50,000& = 13l 50
O&Uz3IIE =& 1,000,000& * 13| 1,000
Oo2gd EIIZHA 100,000& * 13| 100
OAgord 2= 430,000& = 12& 5,160
Oaxgtortd 2= (2 )
250,000& = 12& 3,000
Oagotd 2 (M0 2)
220,000 = 12& 2,640
OdJIetE ZeltHd = 500,000& = 123 6,000
OFIIotE 2= (2EU)
120,000& » 12&8 1,440
OFJIOE BB (MLUIH)
120,000& » 12&8 1,440
02 =24l 128,049 128,049 0
oXIIRS 75,261
OJl=g 6,370& = 250kW » 12 19,110




AN FFNMEIES2 2E ML
M 2RMBEARS
Chel: gelEsts24xy (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OoJlzg(28l) 6,160& * 120kW » 12& 8,871
OoME= 80& = 29,000kW » 12& 27,840
OAMBE(Z2EMH) 81& = 20,000kW » 12& 19,440
O&ot=ER= 500,000& = 123 6,000
oasl+==2(28) 300,000& = 12& 3,600
OHHLLI (ST AIIIA)
B600& * 4AI2t = 80m = 1602 30,720
OHHULI(TAIINA/ZEU)
6003 * 6AI2F » 6m » 3CH » 160 10,368
O&3stx HEA 1,500,000& * 12/ 1,500
O3zENdNE2 MM EE 600,000 600
206 M= Hl 19,489 12,589 6,900
01 =8l 19,489 12,589 6,900
oflsa ZE2A2E UM 3,489
OppOtCH 4003 = 1000H 40
Ot 5,000& * 2004 100
Otlz 7,000& = 50% 350
Ozdze8 s4+Y 10,0002 * 30H 300
(OF = 3,000& = 30& = 204 180
OJzs 2ot 150,000& * 1074 1,500
OoEgd E2H 77,0008 * 7S 539
Od2= HMel 40,000& = 12& 480
Outer & I A XM 200,000& * 5& 1,000
oYs & SAHXNH 150,000& * 58 750
ORI 100,000& * 53 500
OXts MOl 200,000& * 58 1,000
(OFSE=SRS i DI 150,000& * 53 750
OYEZZNEMD 700,000& = 1204 8,400
OFsd HE2A3|(3kg) 120,000& * 30K 3,600
401 Al HI L 2T 328,272 345,047 A 16,775
01 A& HI 328,272 345,047 AN16,775
OlheIMErEa A= RA2L
4,825% = 5,287m 25,510
o=z s2 =2 A2
2,3843 = 1,591m’ 3,793
OZEUUMBAIZ A2 KX 22l
2,3843 = 1,518m’ 3,619
OZSHUAMEAIZ AIAER HEE)] S22
2,500,000& 2,500
OZZHENENSH AL HHU)| S
2l 3,000, 000& 3,000
Od=ns2, 28 HAZEH 7X 22
2,500,000& 2,500
O&IIANE R 15,000& * 930kw 13,950
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FFDoMusSa 2IAS L
THRMEELHS
g 2332 xy )
SA - ZE-B(EA) - NRAY - B S il 2
CEEEEIEEF N EE T
3,100,510& » 2% » 128 74,413
M = 8l 17,106 17,106 0
M = 8l 17,106 17,106 0
otts& MY II==(1004 )
1,7703 = 4000 » 123 850
OB U MeII==(1004 )
1,770& = 3000 » 123 638
Oz BAES 100,000& * 12& 1,200
o=z L 22U FEA LEH
11,000& = 12004 « 128 1,584
ogtsa & 28U ¥4 HIIMEAM
11,0003 = 224 = 122 2,904
ot st HEESEXN & HEES
90,000& * 4002 * 128 4,320
OZ8U st HEESEXN & HEES
90,000& * 204 * 128 2,160
oxZdclE (37 HE, 5I17)
2,000,000& = 13l 2,000
OHEE NEES 1,450
Ogszs 580& = 2,500kg 1,450
gIzZtol & 400 69,455 A 69,055
o2¥F =l 400 400 0
osER Y 2 A IZAE
100,000& * 40 A& 400
ANEHI &SR 69,600 69,800 A 200
A& HI 69,600 69,800 A 200
OXZAE sX2el 60,000
OXZAEF(IHXIXIIN 15,000, 000& 15,000
O&tl & okl 5,000,000& = 43| 20,000
Od=2t d=c &M 4,000,000& * 23 8,000
Og=2U AL 014 7,000,000& 7,000
OAUR MAaSLH 50,000& * 200= 10,000
o= ZAs =4 5,000
Ogfsa =Y OrdatA I & WXl
5,000,000& = 13l 5,000
OXXNALEE RA2c 4,600
OXZAEF(JHXIXIIN 2,000,000& 2,000
o&t, S22l 600,000& = 23l 1,200
OxZx 24 1,400,000& 1,400
[ZE0IMES 2 MnIF=A 150,000 0 150,000
NAcIMet=2 283l =2 50,000 0 50,000
201 Let24d] 22,000 0 22,000




HEDMNUST 2YAAD
THRMEELHS
JIEMES I HRFZFA )
SN HH-S(BN) - MBAY - B il HlnE2
01 At 22l 15,800 15,800
O el 800,000& 800
OXEE M (M, HA) 5,000,000 5,000
O IAPNZI 2 D12t AtRIE M 200,0002 = 509K 10,000
03 A2 Z Hl 6,200 6,200
o839 6,200
O3 o2l 2,000,000& 2,000
OS2l 800,000 * 2% » 2 3,200
OXt& Y xt 500,000& * 2 1,000
301 L2 LS 28,000 28,000
07 2eI=& 0 bl 28,000 28,000
og3l 2,500,000& = 8H 20,000
OMMUYI (=g, A8 S) 2,000,000& * 48t 8,000
Setad NES ZALALY 100,000 100,000
307 glz2tol & 100,000 100,000
02 It M AHE L 100,000 100,000
O=SstAd NES T AIAY 100,000, 000& 100,000
AR MASAS =& 590,000 590,000
Xl 270,000
Al 320,000
X 22 FMOIE 2= 540,000 540,000
Xl 270,000
Al 270,000
207 A RO H| 540,000 540,000
Xl 270,000
Al 270,000
01 A E A 60,000 60,000
OXXNZH= M L HL(AHBA ) 60,000
Xl 30,000
Al 30,000
02 & A 2 480,000 480,000
O2=2Y YMOE 3= S/MHL(HAKEE) 480,000
Xl 240,000
Al 240,000
FUlAm X & A= 50,000 50,000
310 =201 ™ 50,000 50,000
02 2MEE3 50,000 50,000
©2020 HX & AlAZ 50,000
OAl &= 40,000,000& 40,000
OdEH 2 10,000, 000& 10,000
SYHY (BFUHAST 2YAAD) 307,885 22,479




AN FFNMEIES2 2E ML
MY BHSAAH(FEDAUHYUST 2EALD)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
el 2d | 207,449 175,722 31,727
ol Al 207,449 175,722 31,727
101 @124l 207,449 175,722 31,727
01 2= 78,153 76,348 1,805
oxzuz2R+¢ 78,153
OAte 284 78,153
-2 BHA 10,229% * 18H » 30AI2 x 123 66,284
- AL 10,989& = 3 * 30AI2+ ~ 128 11,869
02 JIEHE B4 60,807 59,062 1,745
CEEEE 53,841
SNEEEES
10,4303 = 3% = 90AIZt = 128 33,794
o224
3,477 « 18 » 8AIZH » 365¢ 10,153
SL22E 83,842& * 198 » 118 9,894
OLEHAIIH SHU A FZA A2 R
10,989 = 1% = 30AI2t = 128 3,957
OAZHEEIRHAIIH A2 R
8,357 * 18 » 30AI2F » 123 3,009
03 RIAHAAZZRHE > 68,489 40,312 28,177
OF AL 223 38,111
OoJlzs(t=2) 25,520
-5 Xt 2,126,590& » 1H » 1228 25,520
Oo=¢ 7,028
-tExg 480
- B & 40,000 * 128 = 1¥H 480
NEEELE
14,8803 = 30AI2+ » 123 5,357
) s = 79,3603 = 15¢ 1,191
OFE FItHI 1,063,290& * 23| » 1H 2,127
O=&l 130,000& » 12& » 1Y 1,560
ozZ2s+% 106,320& = 128 » 1H 1,276
O&d=+< 50,000& = 128 » 19 600
c4liEEg = 3,966
O=H3RE3 38,111,000& * 4.5% 1,715
OCLEEE=RE= 38,111,000& * 1.5% 572
OALEBH2LLS 38,111,008 * 3.12% 1,190
OFIQYRHRELS
1,190,000& * 7.38% 88
Ot EE = 38,111,000& * 1.05% 401
OHIMRA 26,412
OJdles 66,800 * 1 » 269 * 123 20,842
O=8d= 20,842,000& * 4.5% 938




S EFN0MEES2 2AAIS D
Mz HMSAHH| (FFTDoMeisa SHAIE D
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OAH2LEE 20,842,000& * 3.12% 651
O&I 2 651,000& * 7.38% 49
onssd 20,842,000& * 1.5% 313
OMHEE 20,842,000& * 1.05% 219
OY &SIyl 200,000 = 1H = 23] 400
O &3 3,000,000 3,000
Jl2& bl 100,436 109,684 N9,248
Jl2&Hl 100,436 109,684 N9,248
201 YEr2 Y| 63,244 65,580 ~2,336
01 AFR 2t 2l bl 51,464 53,800 N2,336
OJl2gesaAL (17Y) 500,000& « 174 8,500
o3gdl(JIE=&H])
8,000 * 209 * 8& * 12& 15,360
O AMILUHI (2B =3HH)
12,500 * 200& 2,500
oxEz== 6,664
OsLX 15,0003 * 2IHAF * 12& 360
ORI X 13,000& * 6IHAL x 28 x 12& 1,872
Ost=244d E2HX 11,0008 = 1& = 12& 132
Os2dX (28 =3tH)
15,000& * 5JHAF + 12& 900
OXgX (2t £3tH)
13,000& * 5JHAF +» 12& 780
Og2X (28 =3tH)
11,000& * 100HAF x 12& 1,320
OF2HX (28 =3tH)
5,000& * 5J0AF * 52 1,300
o294 14,280
ogad 60,000 » 2 = 119 14,280
od - 22) AUz (=)
45,0008 = 404 = 12& 2,160
od - 22) A= (2 )
45,0008 = 204 = 12& 1,080
(ORTE==x]l 720
OFHRAZE 2= 120,000 » 3Y x 23] 720
OMAXY F0 &8s 200,000& * 1CH 200
02 352494l 11,780 11,780 0
oRH2 8,492
Ogt 300& * 3008 * 12& 1,080
o=y 1,930& * 320 x 12& 7,412
(OFSEkIBTr= 10,000& * 29 = 12& 240
oXFsSI(ZEH) 10,000& = 1JHA = 128 120
OXESR=2 1,440




S EFN0MEES2 2AAIS D
HaM: HYLS2HAH (HFTDOIMESZ 2HAIS D)
& 123l (chel & 9l)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
O2HY g AEZ 70,000& = 12& 840
OPeHY sIdAME2(28 )
50,000& = 12& 600
o2& g3t 600
OMNXI&Hg 100,000& * 13 100
Ost=08" BEE2 3 100,000& = 13 100
OKRZ0M) 82 2E 3 150,000& * 13 150
OFdH=zag3s 150,000& = 13 150
O=s=s=22g3 100,000& = 13| 100
OSHEYE MEESEEE 300,000& = 13| 300
O A& &Hl S X 588
o8& &l 588
& K= ARD| 4,200,000& ~ 10 ~ 6% 252
-dl 0l M ZelE 698,000 * 8CH * 6% 336
202 4] 26,112 29,184 N3,072
01 2L Y| 26,112 29,184 N3,072
O J|IEZHI
20,000& * 17 = 82 * 128 * 80% 26,112
203 ¥R =&XH| 11,080 10,720 360
01 J| 2 2HHR=XH| 6,000 6,000 0
(OPJES 6,000,000& 6,000
02 d Rt R =AY 880 1,120 N 240
(OISl 880,000& 880
04 ENSHLRE=XH| 4,200 3,600 600

OJ| & (25210136t) 4,200,000& 4,200
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HEDONUSE SoeTa
23RN PE L Ha
NNER L AHHE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONASALR Z2TH 100,000 * 54 500
02 2324l 34,200 32,800 1,400
O=EE=2E tidgds 2ERS
200,000 = 16Y = 13 3,200
o=x&X X el 2B 1,000,000& * 5 5,000
OZXXNEEH HollEEE 26,000
OAXNANREEE 80,000&  2374H 18,960
OXN=2sHTAA 80,000& = 53 4,240
OXHE S AR 80,000& = 359H 2,800
301 LA F 46,471 37,680 8,791
09 SAEHIE &S 46,471 37,680 8,791
OXXAEEEH 29 13,918
OFXNANYUESEH BS0HHI
20,000& = 152 = 203/ 6,000
OXNXNANAUEBE &K WS
75,8003 * 50 « 13 3,790
O&IIUE ¥ Edalo FAX 44l
8,000& = 43% = 128 4,128
OZXXNEZUHAL 2SKH 600,000& * 169 9,600
OXNISAA 29 22,953
OXEAMA AHIXH(SAH, nSHl)
21,000& = 3% * 311 19,593
O&JIn=s & a2 F4I =44
8,000& = 352 = 123/ 3,360
ANEEES 22 76,000 52,000 24,000
201 €82l 76,000 52,000 24,000
01 At 22l 72,000 48,000 24,000
OXX 222 M= 22l 72,000
OXX E2c2lE3 M
3002 * 42H=0{ = 10,0000H 12,000
O&X 2223 HA
1,000& * 3& = 5,00004 15,000
OXRX stXFelz M 50,000& * 5008 25,000
Ocs 2 &+ 22 20,0003 * 1,000% 20,000
02 =224l 4,000 4,000 0
OXXNEENEE SANES
1,000,000 = 404 A 4,000
HATNAHSE et AXNBE 2H 42,750 45,000 A2,250
307 glz2tol & 42,750 45,000 A2,250
02 It HAHEE 42,750 45,000 A2,250
OXXMASE 918 HRHZ 24
42,750,000& 42,750
gt3 On-0ff A XIMAH St 23 H Q! 45,000 40,000 5,000
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X XICH & 10,000 10,000 0
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O=0d=3 BY= 31,134,000 = 4.5% 1,402
ONEEE F2 31,134,000& * 1.5% 468
OMMEE 23 31,134,000& * 1.05% 327
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201 Let2d] 17,150 16,267 883
01 At 22l 12,060 12,060 0
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